Frazier Park Public Utility District P.O. Box 1525 Frazier Park, CA 93225

September 28, 2023

ATTN: Eric Manzano, Disbursement Analyst Disbursement Unit Division of Financial Assistance State Water Resources Control Board P.O. Box 944212 Sacramento, CA 94244-2120

> RE: Frazier Park Public Utility District Meter Replacement Project and Emergency Well Supply Project Funding Agreement # SWRCB00000000000002002051 Claim # 19 for August 1, 2023 – August 31, 2023

Dear Mr. Manzano,

Claim #19 submittal:

Attached are the original and one copy of the Frazier Park Public Utility District (District) Claim # 19 for Planning project costs from August 1, 2023, through August 31, 2023.

I can be reached at (661) 245-3734 or Oscar Cisneros, Self-Help Enterprises at (559) 802 - 1631, if there are any questions.

Sincerely

Jonnie Allison Manager, Frazier Park Public Utility District

C: Lawrence Sanchez, P.E. Associate Sanitary Engineer - Region 4 Funding Coordinator Jesse Dhaliwal, Sr. Sanitary Engineer, Drinking Water Field Operations Branch, Tehachapi District Dee Jaspar, Dee Jaspar & Associates Oscar Cisneros, Self- Help Enterprises

					_	
	STA	TE OF CALIFORNIA				
	STATE WATER I	RESOURCES CONTROL	BOARD			
	REIMBURSE	MENT REQUEST (INVOID	CE)			
FROM:					DATE STAMP	
			INVOICE		-	
			AGREEN	IENT NO.: T NO.:		
	URCES CONTROL BOAR	D		PERIOD:		
DIVISION OF FINANCI ATTN: DISBURSEMEN			Analyst Si	gnature:		
POST OFFICE BOX 94 CA 94244-2120	4212 SACRAMENTO, EL	ECTRONIC SUBMITTAL TO:				
	FO	LLOWING SECTION TO BE	COMPLETED BY	RECIPIE	NT	
REQUESTED REIMBURS	EMENT AMOUNT:	\$				
RECIPIENT CERTIFICATION						
	-	RY, in addition to other legally available pen	-			
accurate. (2) I have paid, or can certify Agreement that must be satisfied prior t of receipt of the funds requested here disbursed within 30 days of receipt or ha	v as to the payment of, any and all o the disbursement of the funds in by. If such costs have not been p ave been returned to the State Wate ork and budget. (7) The Agreemen	I fees due to the State Water Resources C this reimbursement request. (4) The costs c aid within 30 days, funds received under th er Board. (6) All amounts included in this inv nt might or might not include authority for	ontrol Board (State Water laimed in this reimburseme nis request will be returned oice are for costs incurred	Board). (3) I h nt request hav I to the State for the Project	ave satisfied, or can certify a re been incurred and have bee Water Board. (5) All prior fun and represent only costs auth	to the best of my knowledge and belief, is is to the satisfaction of, all conditions in the in paid or will be paid within thirty (30) days ds received from this Agreement have been norized under the Agreement that are within quest are in accordance with the Agreement
Signature of the Recipient's Aut					/	
	F	CALCULATION FOR		SEONL	r	
) for Adjust	ment:	
	REQUESTED AMOUNT:					
	ADJUSTMENT AMOUNT:	Þ				
REIMBURSEMEN	NT AMOUNT APPROVED:	\$				
	FUNDING	G LINE PAYMENT ALLOO	ATION (ACCOL	JNTING	DETAIL)	
FI\$CAL SUPPLIER ID NO						
PURCHASE ORDER NO.	FUNDIN	G DESCRIPTION	PROGRAM NO.	BY	RECEIPT NO.	AMOUNT
						\$
						\$
						\$
						\$
						\$
		TOTAL REIMBU	RSEMENT APPR	OVED FC	OR THIS REQUEST:	\$
STATE USE ONLY: AP		VENT				
Disbursement Manager Signa	ature					Date
Authorized Manager Signatur	е					Date

Form 261 (Revised 7-9-21)

	STATE OF CALIFORNIA							
STATE WATER RESOURCES CONTROL BOARD								
	REIME	BURSEMENT REQ						
	-	I	MAIL TO: STATE WA					
(2) INVOICE NO.: AGREEMENT NO.:	-			OF FINANCIAL ASSIS BURSEMENT UNIT PO				
PROJECT NO.:			OFFICE BO	OX 944212				
				NTO, CA 94244-2120				
			ELECTRONIC SUBMI STREET ADDRESS:	ITAL TO: 1001 I STREET, 1	ATH FLOOR			
				SACRAMENTO, C				
AGREEMENT LOAN and/or GRANT RECIPIENT:								
STREET/P.O. BOX:								
CITY AND ZIP CODE:								
AUTHORIZED REPRESENTATIVE:		1	ī	TITLE:				
STATE USE ONLY	1			1	STATE USE ONLY			
	(3)	(4)	(5)	(6)	(7)	(8)		
BUDGET LINE ITEM	BUDGETED AMOUNT	AMOUNT CLAIMED FOR PAYMENT THIS PERIOD	AMOUNT PREVIOUSLY PAID	APPROVED PAYMENT FOR THIS REQUEST	AMOUNT APPROVED FOR PAYMENT TO DATE	% OF LINE ITEM BUDGET SPENT TO DATE		
		_						
TOTAL								
COMMENTS (STATE USE ONLY):								
STATE USE ONLY: APPROVAL FOR PAYMENT								
All Quarterly Reports have been submitted to date					Final Disbu	rsement Date:		
Draft deliverables submitted for disbursement >70		mount (Grants Only)						
Final deliverables submitted for disbursement >90								
Water Code 5103 Compliant		Yes, No, N/A						
Water Code 5105 Compliant		res, no, n/A						
		_			Data			
Project Manager Signature					Date			
Reviewer Signature					Date			

Form 260 (Revised 6-17-21) Analyst Unit Signature:

Allowance (soft costs) Summary Sheet

(1) Project Name: Frazier Park Public L (2) Project Number: 1510007-002C	Jtility District Meter Replacement Pro	bject and Emergency Well Su	pply Project				
(3) Agreement Number: SWRCB00000	0000D2002051						
						Amount Claiming	For Disbursement
						DFA* Loan Amount	
						(please indicate	(please indicate split
Category (i.e. Planning, Design, etc.)	Description of Work Completed:	Vendor	Billing Period	Invoice #	Invoice Total	split %)	%)
(4A) Construction							
Phase 1 Well \$1,077,392.00							
Phase 2 Meters \$ 1,637,486.00							
Pre-Purchased Material/Equipment:\$0							
Land/ Right of Way: \$0							
Construction Subtotal: \$2,714,878.00							
(4B) Planning/Design:							
Planning/ Design Subtotal: \$141,000.00							
(4C) Construction Management:			0/01/00000 0/01/00000	//00.000010	1 004 00	00/	4000/
	Well 5 project correspondence and cos	Dee Jaspar and Associates	8/01/2023 - 8/31/2023	#23-000816	1,864.68	0%	100%
Construction Management Subtotal:\$229	116.00						
(4D) Administration:	,110.00						
(+b) Administration.							
Administration Subtotal: \$135,750.00							
(4E) Contingency:							
<u>,</u>							
Contingency Subtotal: \$343,283.00							
Total: \$3,464,036.00					\$1,864.68	0%	100%
Instructions: Add additional rows as n	eeded for each category		Definition:				

1. Complete the project name

Perinition:
* DFA (Division of Financial Assistance through the State Water Resources Control Board)

2. Complete the project number

3. Complete the agreement number

4. Allocate the allowances (cost costs) accordingly into the appropriate catoegories

If there are multiple funding sources please indicate the splits
Please subtotal each category

Claim 19 Funding Agreement Scope of Work Task 4: 4C -Construction Management: Well 5 Replacement Project correspondence/ Project Closeout documents Invoice # 23-000816

August 31, 2023, Charges: \$1,864.68



INVOICE

Invoice submitted to: Frazier Park Public Utility District PO Box 1525 Frazier Park,, CA 93255 Jonnie

August 31, 2023

Invoice # 23-000816

In Reference To: Well 5 Replacement Project

Professional Services

		Hrs/Rate	Amount
8/1/2023 CMS	Senior Engineer I Memorandum, change order #2, and correspondence	2.00 169.50/hr	339.00
8/2/2023 CMS	Senior Engineer I Project correspondence	0.50 169.50/hr	84.75
DJ	Principal Engineer Contractor Close Out Review	2.00 217.00/hr	434.00
8/10/2023 DJ	Principal Engineer Cost Review	1.00 217.00/hr	217.00
8/17/2023 CMS	Senior Engineer I Project correspondence and conference call	1.50 169.50/hr	254.25
8/24/2023 CMS	Senior Engineer I Project correspondence and Board Meeting	1.50 169.50/hr	254.25
8/25/2023 CMS	Senior Engineer I Project correspondence and cost close-out documents	1.50 169.50/hr	254.25
For pr	ofessional services rendered	10.00	\$1,837.50
Additi	onal Charges :		
8/31/2023 IN-HC	OUSE COLOR COPIES/PRINTS		25.50
IN-HC	USE BLACK & WHITE COPIES/PRINTS		1.68

TERMS: INVOICES PAYABLE UPON RECEIPT AND DUE 30 DAYS FROM DATE OF INVOICE. A FINANCE CHARGE OF 1.5% WILL BE ADDED ON ALL PAST DUE INVOICES. IF COLLECTION BECOMES NECESSARY, CLIENT AGREES TO PAY ALL LEGAL COSTS.

Frazier Park Public Utility District

Total costs	<u>Amount</u> \$27.18
For professional services rendered	<u>Amount</u> 10.00 \$1,864.68
Total amount of this bill	\$1,864.68

Billings from August 1, 2023 to August 31, 2023

TERMS: INVOICES PAYABLE UPON RECEIPT AND DUE 30 DAYS FROM DATE OF INVOICE. A FINANCE CHARGE OF 1.5% WILL BE ADDED ON ALL PAST DUE INVOICES. IF COLLECTION BECOMES NECESSARY, CLIENT AGREES TO PAY ALL LEGAL COSTS.

.

DEE JASPAR & ASSOCIATES, INC. 2730 Unicorn Road Bldg A Bakersfield, CA 93308 (661)-393-4796

INVOICE FOR MATERIALS

Date	Project	Description of Materials	Amount	Cost	End Cost
	Frazier Park Public Utility District				
	Well No. 5 Replacement Project				
	August 2023				
8/31/2023		In-House Color Copies/Prints	170	\$0.15	\$25.50
		In-House Black & White Copies/Prints	21	\$0.08	\$1.68
		-			ļ
					
				· · · · · · · · · · · · · · · · · · ·	}
					ļ
	1	TOTAL CHARGES			\$27.18

IN-HOUSE COPIES/PRINTS

Aug-23

.

Project	Color @		\$0.15	₿&₩@		\$0.08
Frazier Park PUD Well 5 Replacement Projcet		170	\$25.50		21	\$1.68